CS 225
Homework #11 

Due Friday 4-6-12

9.4 #1, 3, 4

11.1 #3ab

Additional problems:

1. Define what it means for a lower-bound class 
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to be a “tight” lower bound for a given problem.  

2. Since each element of the array has to be checked (in the case of unsuccessful search), search in an unordered array of length n requires at least n comparisons in the worst case.  Is this a tight lower bound?  Explain.

3. Find a lower bound on the time efficiency class for any algorithm solving the isomorphic graphs problem:  given two graphs G and H, determine whether the graphs are isomorphic.  Explain your answer.  Assume the graphs are represented by adjacency lists.
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